Chapter 14

7. When can the NPV and the IRR methods of evaluating investment projects provide contradictory results? (b) How can this arise? (c) Which method should then be used? Why?

Evaluating Mutually Exclusive Projects with the NPV and the IRR might yield different results. E.g., see the following diagram:
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The reason for the conflicts is simply the scale of the projects. A big project with large amount of cash flows might provide a large NPV, but its IRR could be fairly low. However, a small project with low NPV might yield very high IRR. Thus, the two methods will suggest different results. 

Usually firms are more interested in the absolute value of net return, i.e., a large NPV is preferred to a small NPV. (They want to make more profits, right?) Therefore, NPV method should be used in case of conflict.

15. In what ways the higher interest rates in the United States than abroad interfere with the international competitiveness of U.S. firms?

According to macroeconomic theory, a higher interest rate might discourage private investment, due to the higher interest expenses. Therefore, U.S. firms might not invest enough to optimize their input bundle. Therefore, their international competitiveness might be lowered. 

8. John Piderit, the general manager of the Western Tool Company, is considering introducing some new tools to the company’s product line. The top management of the firm has identified three types of tools ( referred to as projects A, B, and C). The various divisions of the firm have provided the data given in the following table on these three possible projects. The company has a limited capital budget of $2.4 million for the coming year.
                        Project A             Project B              Project C

Present value   $3,000,000            $1,750,000          $1,400,000

Of net cash flows (PVNCF)

Initial cost      2,400,000                 1,3000,000            1,100,000

Of project (Co)

(a) Which project(s) would the firm undertake if it used the NPV investment criterion? 
As we suggest in the first question, it is more profitable to invest in the project with the highest NPV. As the capital budget is $2,400,000, all three projects are applicable. Since Project A yields the highest NPV ($3,000,000), it is wise to undertake A.

(b) Is this the correct decision? Why?

This is a correct decision. Although the return rate of A might not be the highest, we still favour NPV method, because it measures the true profit for the firm.

10. The MacBurger Company, a chain of fast-food restaurants, expects to earn $200 million after taxes for the current year. The company has a policy of paying out half of its net after-tax income to the holders of the company’s 100 million shares of common stock. A share of the common stock of the company currently sells for eight times current earnings. Management and outside analysts expect the growth rate of earnings and dividends for the company to be 7.5 percent per year. Calculate the cost of equity capital to this firm.

Net income (E) = 200

Dividend rate = 0.5

Then retention rate (RR) = 0.5

Number of shares = 100

P/E = 8

Growth rate (g) = 7.5%

We can compute the price of stocks: P = E*(P/E) = 200 * 8 = 1600

The current dividend rate is D = 200 * 0.5 = 100

By DDM, P = D(1+g) / (K-g)
(where K = cost of equity capital)

or K = g + D(1+g) / P 

K = 7.5% + 100 (1+7.5%) / 1600

K = 0.1422

K = 14.22%







